38.009

g.2f

FOF=402

FBx=_ 2679.5#

47.680

SME=(FBy*47.680") + (FB*38.009") +(FCA*25.470") + (FDF*17.7037)=0

(—2525.7#*47.680") + (2679.5#*38.009”) +(3535.8#*25.470) + (—FDF#*17.709")=0

71477 + (—FOF#*17.709")= 0O
—(—FDF#*17.709”) —(—FDF#*17.709”)

71476874 = —FDF#*x12769"
17.709” 17765

4036.24 = —FOF#
—4036.2# = FDF#

SFA=FBx + FCA( + FDFyx + FEx=0
—2679.5# + (3535.8§* COS 58.841") + (4036.2#*C0S7.4168) + (—FE)=0

3152.47% + (-FE)= O

- (-F&) - (-FE
3152.47# = (—FE)
—3152.4"# = FEy

IFP=FB, + FCAy + FDFy + FEy=0
2525.7# + (—3535.8#*SIN58.841) + (4036.2#*SIN7.4168") + FE=0

21.0124 + FEy= 0
—FEy —FEy

21.0124 = —FE,

—21.0124 = FEy



